AEXBERFEFTEREEAR024ETHEEM T (125100) AREEXBER

EEHS HE | RETUVRSE | HKETLRER | ERSZ =a IME
106134125100887 | F&R&IFE 125100 TREE 260.0 172.0 88.0
106134125100588 | #/N\&F 125100 TrRHEIE 237.0 162.0 75.0
106134125100200 | F&#E= 125100 TrRHEIE 235.0 168.0 67.0
106134125100914 1w 125100 TrEIE 235.0 156.0 79.0
106134125100189 | XjshZx 125100 TrRHEIE 230.0 158.0 72.0
106134125100238 | Filx=F 125100 TREE 228.0 159.0 69.0
106134125100848 | =&HisE 125100 TrRHEIE 228.0 146.0 82.0
106134125100916 Frk 125100 TREE 226.0 148.0 78.0
106134125100109 | ERE 125100 TrEIE 225.0 175.0 50.0
106134125100979 AR 125100 TREE 220.0 152.0 68.0
106134125100063 Bz 125100 TrHEIE 218.0 150.0 68.0
106134125100273 B2 125100 TREE 218.0 147.0 71.0
106134125100270 | &&= H 125100 THEE 217.0 146.0 71.0
106134125100587 | HET 125100 TrRHEIE 216.0 146.0 70.0
106134125100960 | ZIEX 125100 TrRHEIE 216.0 146.0 70.0
106134125100933 | fJ=Imm 125100 TrRHEIE 216.0 143.0 73.0
106134125100937 PREE 125100 THEE 214.0 144.0 70.0
106134125100976 | A+ 125100 THEE 214.0 151.0 63.0
106134125100871 KB 125100 THEE 214.0 145.0 69.0
106134125100741 | &% 125100 TrRHEIE 214.0 133.0 81.0
106134125100339 PR 125100 TrRHEIE 213.0 134.0 79.0
106134125100345 | BEE% 125100 TrREIE 213.0 147.0 66.0
106134125100010 | EARIE 125100 THEE 211.0 136.0 75.0
106134125100678 | FRiZF| 125100 THEE 211.0 138.0 73.0
106134125100836 R BS 125100 TSR 210.0 137.0 73.0
106134125100311 303 125100 TREE 210.0 135.0 75.0
106134125100972 | PFREXK 125100 TrREE 210.0 149.0 61.0
106134125100974 JE U 125100 TrREE 210.0 148.0 62.0
106134125100904 | s&EkiE 125100 TrREE 210.0 145.0 65.0
106134125100120 | =498 125100 THEE 209.0 161.0 48.0
106134125100261 | kE#k 125100 TSR 208.0 135.0 73.0
106134125100462 BN 125100 THEE 208.0 150.0 58.0
106134125100838 | #BEMH 125100 TSR 208.0 140.0 68.0
106134125100799 | it 125100 TrREIE 208.0 146.0 62.0
106134125100575 | X3&4F 125100 THEE 208.0 146.0 62.0
106134125101070 | {aJ&17% 125100 TrREE 208.0 126.0 82.0
106134125100978 FH 125100 TREE 207.0 148.0 59.0
106134125100969 | Z={EHA 125100 THEE 206.0 145.0 61.0
106134125100919 FX 125100 TrREE 206.0 145.0 61.0
106134125100525 | #%&EF 125100 TREIE 206.0 155.0 51.0
106134125100782 | EIfk 125100 TREIE 206.0 129.0 77.0
106134125100130 | Z{E#k 125100 THEE 205.0 127.0 78.0
106134125100877 | =&E 125100 TREIE 205.0 131.0 74.0
106134125100152 5K [ 125100 THEE 204.0 129.0 75.0
106134125100161 EEas 125100 THEE 204.0 136.0 68.0
106134125100592 | =kpE# 125100 TRHEE 204.0 124.0 80.0
106134125100565 | KFEHE 125100 TRHEE 203.0 124.0 79.0
106134125100730 | EEHE 125100 TRHEE 203.0 120.0 83.0
106134125100868 XEK 125100 TRHEE 203.0 145.0 58.0




106134125100697 | SEES 125100 THEE 202.0 138.0 64.0
106134125100832 | &% 125100 THE®E 201.0 148.0 53.0
106134125100783 | kK& 125100 TrREE 201.0 130.0 71.0
106134125100064 | J3IK 125100 TrREE 201.0 144.0 57.0
106134125100938 | F4A#k 125100 TrREE 201.0 130.0 71.0
106134125100934 | Pr=zZ 125100 THEE 201.0 144.0 57.0
106134125100977 | Z=#kx 125100 TrREE 200.0 141.0 59.0
106134125101053 =FeR 125100 TrREE 200.0 139.0 61.0
106134125100867 | 4B’ 125100 TrREE 200.0 140.0 60.0
106134125100773 L 125100 TrREE 199.0 141.0 58.0
106134125100664 | BERhnFk 125100 TrREE 199.0 130.0 69.0
106134125100148 | Z=iFH 125100 TrREE 199.0 142.0 57.0
106134125101044 | FrfEisE 125100 THEE 199.0 136.0 63.0
106134125101068 | FhE4%l 125100 TrREE 199.0 151.0 48.0
106134125100947 | HFE 125100 TrREE 199.0 119.0 80.0
106134125100906 | ExPESC1A 125100 TrREE 199.0 134.0 65.0
106134125100875 5 125100 THREE 198.0 122.0 76.0
106134125100709 | rEIfk 125100 THEIE 197.0 113.0 84.0
106134125100111 I/ 125100 TrREE 197.0 130.0 67.0
106134125100252 | VK& 125100 THREE 197.0 132.0 65.0
106134125100888 | Stk 125100 TrREE 197.0 138.0 59.0
106134125101003 15 125100 TrREE 197.0 127.0 70.0
106134125100501 | MAME 125100 TrREE 196.0 130.0 66.0
106134125100277 | EER 125100 TrREE 196.0 139.0 57.0
106134125100577 | #ER 125100 TrREE 196.0 129.0 67.0
106134125100668 | ME& 125100 TrRER 195.0 127.0 68.0
106134125100622 | $E&hiE 125100 TREE 195.0 132.0 63.0
106134125100198 | %5 = 125100 THREE 195.0 126.0 69.0
106134125100304 ] 125100 THEE 195.0 145.0 50.0
106134125100395 | £ 125100 THEE 195.0 126.0 69.0
106134125100903 | EFE 125100 TrRER 195.0 129.0 66.0
106134125100896 £y 125100 THEE 194.0 139.0 55.0
106134125100517 | %8 125100 TrRER 194.0 130.0 64.0
106134125100052 EX 125100 THEE 194.0 126.0 68.0
106134125100595 | ZHR#E 125100 THREE 194.0 125.0 69.0
106134125100568 | FE¥E 125100 THEE 193.0 128.0 65.0
106134125100527 nE 125100 THEE 193.0 137.0 56.0
106134125100637 X 1E 125100 TREE 193.0 146.0 47.0
106134125100024 L 125100 TREE 193.0 122.0 71.0
106134125100476 %F 125100 TREE 193.0 127.0 66.0
106134125101014 193 125100 TREE 193.0 134.0 59.0
106134125101069 | #%k 125100 TREE 193.0 127.0 66.0
106134125101091 it 125100 TREE 192.0 138.0 54.0
106134125100377 B 125100 TREE 192.0 128.0 64.0
106134125100119 | REHR 125100 TREE 192.0 127.0 65.0
106134125100631 %BE 125100 TREE 192.0 138.0 54.0
106134125100536 | 2/ 125100 TREE 192.0 116.0 76.0
106134125100777 | FEk= 125100 TREE 191.0 134.0 57.0
106134125100762 | $hRE=E 125100 TREE 191.0 126.0 65.0
106134125100008 2= 125100 TREE 191.0 131.0 60.0
106134125100041 | FEiE= 125100 TREE 191.0 134.0 57.0
106134125100453 ZREK 125100 TREE 191.0 117.0 74.0




106134125100401 | fR1EB 125100 THE®E 190.0 127.0 63.0
106134125100129 4R 125100 THREE 190.0 121.0 69.0
106134125100771 | #=&E# 125100 TrREE 190.0 115.0 75.0
106134125100812 | Z=1&87Jr 125100 TrREE 190.0 138.0 52.0
106134125100831 [RE 125100 TRHEE 190.0 126.0 64.0
106134125100633 AR 125100 TrREE 190.0 136.0 54.0
106134125100897 i = 125100 TrREE 190.0 129.0 61.0
106134125100913 | E5E 125100 TrREE 189.0 134.0 55.0
106134125101083 | FHiFE 125100 TrREE 189.0 133.0 56.0
106134125100532 | =3ifK 125100 TrREE 189.0 130.0 59.0
106134125100605 | FIpsE 125100 TrREE 189.0 134.0 55.0
106134125100706 | ERfHR 125100 TrREE 189.0 122.0 67.0
106134125100088 | =& 125100 TrREE 189.0 146.0 43.0
106134125100373 | fa/{A3& 125100 TrREE 188.0 134.0 54.0
106134125100352 X4t 125100 TrREE 188.0 117.0 71.0
106134125100432 | /HeE& 125100 TrREE 188.0 134.0 54.0
106134125100416 FRE% 125100 TRHEE 188.0 132.0 56.0
106134125100753 | EPZEMt 125100 TrREE 188.0 124.0 64.0
106134125100821 | He¥&aE 125100 TRHEE 188.0 136.0 52.0
106134125100638 | #ZH® 125100 TrREE 188.0 124.0 64.0
106134125100649 | £FHk 125100 TrREE 188.0 136.0 52.0
106134125100704 | =2i& 125100 TRHEE 188.0 129.0 59.0
106134125100885 | Zakfk 125100 TRHEE 188.0 129.0 59.0
106134125100918 | Fi»3H 125100 TRHEE 187.0 120.0 67.0
106134125100915 3 125100 TRHEE 187.0 121.0 66.0
106134125100421 | #FsIA 125100 TrRER 187.0 134.0 53.0
106134125100428 | AfEE 125100 TRsE 187.0 122.0 65.0
106134125100356 Yy 125100 TrRER 187.0 131.0 56.0
106134125100300 | #& s 125100 TRsE 187.0 126.0 61.0
106134125100365 ZEEH 125100 TS 187.0 123.0 64.0
106134125100403 | (GRS 125100 TRHEE 187.0 117.0 70.0
106134125100021 UE] 125100 TRsE 187.0 125.0 62.0
106134125100133 | F 258 125100 TrRER 186.0 142.0 44.0
106134125100151 | #HLEHK 125100 TRsE 186.0 126.0 60.0
106134125100562 | FHE 125100 TrREE 186.0 141.0 45.0
106134125100809 Bk 125100 TRsE 186.0 114.0 72.0
106134125100796 B= 125100 TRsE 186.0 125.0 61.0
106134125100843 RPN 125100 TRHEE 186.0 127.0 59.0
106134125100811 IBER 125100 TRHEE 185.0 128.0 57.0
106134125100693 BB 125100 TRHEE 185.0 134.0 51.0
106134125100615 TiE 125100 TRHEE 185.0 137.0 48.0
106134125100399 | #HEH 125100 TRHEE 185.0 127.0 58.0
106134125100487 | FERpH 125100 TRHEE 185.0 125.0 60.0
106134125100396 Fi5 125100 TRHEE 184.0 107.0 77.0
106134125100299 | F k& 125100 TRHEE 184.0 122.0 62.0
106134125100023 e 125100 TRHEE 184.0 136.0 48.0
106134125100666 = 125100 TRHEE 184.0 122.0 62.0
106134125100672 *BEE 125100 TRHEE 184.0 131.0 53.0
106134125100579 | [k3siE 125100 TREE 184.0 134.0 50.0
106134125100718 | SR{EW 125100 TrREE 184.0 122.0 62.0
106134125100899 | XifEf& 125100 TITHEIE 184.0 131.0 53.0
106134125101060 BES 125100 TrREE 183.0 123.0 60.0




106134125101026 | #&&H 125100 TrEIE 183.0 133.0 50.0
106134125100659 | LREIR 125100 THEE 183.0 114.0 69.0
106134125100818 KiE 125100 THEER 183.0 111.0 72.0
106134125100610 Z=7H 125100 THEER 183.0 134.0 49.0
106134125100547 (EE=] 125100 THEER 183.0 129.0 54.0
106134125100652 | FEBEWR 125100 TrRElE 183.0 129.0 54.0
106134125100619 | i¥{e 125100 THEER 183.0 131.0 52.0
106134125100636 | BUSIHR 125100 TrRElE 183.0 112.0 71.0
106134125100149 | EEd 125100 THEER 183.0 134.0 49.0
106134125100245 | REKig 125100 THEER 183.0 112.0 71.0
106134125100520 | PrZEiE 125100 TrREIE 183.0 126.0 57.0
106134125100406 | &2 125100 TrREIE 182.0 128.0 54.0
106134125100032 | =B 125100 THEER 182.0 128.0 54.0
106134125100022 | & FPH 125100 THEER 182.0 124.0 58.0
106134125100084 | =4 125100 THEER 182.0 130.0 52.0
106134125100584 B&F 125100 THER 182.0 139.0 43.0
106134125100578 B 125100 TryEIE 182.0 114.0 68.0
106134125100788 kS 125100 THEER 182.0 115.0 67.0
106134125101018 | ZE&1% 125100 TryEIE 182.0 120.0 62.0
106134125100984 FE 125100 TryEIE 182.0 127.0 55.0
106134125101033 | FEREFK 125100 THER 181.0 124.0 57.0
106134125100911 P &5 125100 THEER 181.0 110.0 71.0
106134125100920 B35 125100 TryEIE 181.0 117.0 64.0
106134125100798 | AF= 125100 THEER 181.0 137.0 44.0
106134125100834 =X 125100 THEER 181.0 128.0 53.0
106134125100030 F= 125100 TryEIE 181.0 105.0 76.0
106134125100225 | ZERB 125100 TREE 181.0 133.0 48.0
106134125100290 | BE&F 125100 TryEIE 181.0 120.0 61.0
106134125100326 | {#EiTE 125100 TREE 181.0 118.0 63.0
106134125100310 = 125100 TREE 181.0 131.0 50.0
106134125100524 | ZPED 125100 TrRyEIE 181.0 120.0 61.0
106134125100067 i 72 125100 TREE 180.0 132.0 48.0
106134125100772 | &&= 125100 THEER 180.0 123.0 57.0
106134125100680 | REFE(k 125100 TREE 180.0 110.0 70.0
106134125101040 FERIH 125100 TryEIE 180.0 128.0 52.0
106134125101063 | EHEAL 125100 TREE 180.0 133.0 47.0
106134125100917 z=% 125100 TREE 179.0 104.0 75.0
106134125100940 | [FHigkiB 125100 TryElE 179.0 131.0 48.0
106134125100910 | XEE 125100 TryEIE 179.0 126.0 53.0
106134125100881 | F4iB 125100 TryEIE 179.0 123.0 56.0
106134125100694 | ZIEIE 125100 TryElE 179.0 102.0 77.0
106134125100541 | & %JL 125100 TryElE 179.0 114.0 65.0
106134125100775 | A% 125100 TryEIE 179.0 117.0 62.0
106134125100850 | ETEH% 125100 TryElE 179.0 115.0 64.0
106134125100296 | *BtHiE 125100 THER 179.0 121.0 58.0
106134125100147 | XBEERR 125100 TryEIE 179.0 118.0 61.0
106134125100491 | F#£ 125100 TryElE 179.0 122.0 57.0
106134125100483 [ % 125100 TryEIE 179.0 117.0 62.0
106134125100431 | P&EesF 125100 TryEIs 179.0 113.0 66.0
106134125100366 | K& 125100 TrEIE 179.0 114.0 65.0
106134125100370 | EHf 125100 TrEIE 178.0 139.0 39.0
106134125100360 | skE K 125100 TrEIE 178.0 135.0 43.0




106134125100313 RiFE 125100 TRHEE 178.0 115.0 63.0
106134125100309 | =#ta 125100 THEE 178.0 123.0 55.0
106134125100325 | =184 125100 TSR 178.0 115.0 63.0
106134125100472 | =&l 125100 THEER 178.0 122.0 56.0
106134125100291 el 125100 THEER 178.0 111.0 67.0
106134125100863 | SEF=& 125100 THEER 178.0 118.0 60.0
106134125100740 FRIZ 125100 TSR 178.0 121.0 57.0
106134125100755 eSS 125100 THEER 178.0 99.0 79.0
106134125100725 | IBPRsk 125100 TSR 178.0 118.0 60.0
106134125100550 | &=Z1E 125100 THEER 178.0 130.0 48.0
106134125100676 | FrmkS 125100 TSR 178.0 114.0 64.0
106134125100959 B 125100 TSR 178.0 131.0 47.0
106134125100995 pE: 125100 THEER 178.0 125.0 53.0
106134125101082 R 125100 TSR 177.0 116.0 61.0
106134125100563 | H{ER 125100 THEER 177.0 123.0 54.0
106134125100738 B= 125100 TSR 177.0 130.0 47.0
106134125100837 | &%k 125100 TSR 177.0 121.0 56.0
106134125100844 | E{Ex& 125100 THEER 177.0 107.0 70.0
106134125100790 | ZEfE 125100 TSR 177.0 125.0 52.0
106134125100092 | XYz 125100 TSR 177.0 122.0 55.0
106134125100411 | #Ex=E 125100 THEER 177.0 114.0 63.0
106134125100490 K% 125100 THEER 177.0 107.0 70.0
106134125100387 | X|Fi= 125100 THEER 177.0 119.0 58.0
106134125100374 | HrExF+ 125100 THEER 177.0 123.0 54.0
106134125100039 =17 125100 TSR 176.0 123.0 53.0
106134125100186 | skFHER 125100 THEER 176.0 120.0 56.0
106134125100803 | 3kZ)EE 125100 TRHEE 176.0 122.0 54.0
106134125100813 | #HWx 125100 TSR 176.0 131.0 45.0
106134125100728 | B3FI 125100 THREE 176.0 112.0 64.0
106134125100769 | B™MX 125100 TRHEE 176.0 117.0 59.0
106134125100564 | BEEL 125100 TrRyEIE 176.0 131.0 45.0
106134125100531 FERL 125100 TRHEE 176.0 115.0 61.0
106134125100526 | FF%% 125100 THEER 176.0 108.0 68.0
106134125100654 HEE 125100 TRHEE 176.0 123.0 53.0
106134125101027 33 125100 THEER 176.0 109.0 67.0
106134125100958 | fay#k#d 125100 TRHEE 175.0 122.0 53.0
106134125100213 | X|Z 5k 125100 TRHEE 175.0 127.0 48.0
106134125100285 | =EZ# 125100 TSR 175.0 115.0 60.0
106134125100645 | BE=41 125100 TSR 174.0 112.0 62.0
106134125100936 | EEttA 125100 TSR 174.0 121.0 53.0
106134125100883 | ZRE& K 125100 TSR 174.0 117.0 57.0
106134125100890 | #H&= 125100 TSR 173.0 127.0 46.0
106134125100603 =11 125100 TSR 173.0 116.0 57.0
106134125100538 | #ZE=F 125100 TSR 173.0 122.0 51.0
106134125100780 | FRES&X 125100 TSR 173.0 116.0 57.0
106134125100846 | TE™M4 125100 TSR 173.0 120.0 53.0
106134125100229 | EEfEZ 125100 TSR 173.0 122.0 51.0
106134125100108 | 3KETT 125100 TSR 173.0 128.0 45.0
106134125100398 INEEH 125100 THE®R 173.0 122.0 51.0
106134125100497 ABEL 125100 TSR 173.0 109.0 64.0
106134125100504 | K3BA=F 125100 TSR 172.0 107.0 65.0
106134125100093 | FHFH+ 125100 TSR 172.0 105.0 67.0




106134125100035 | ZR{EIF 125100 THEE 172.0 127.0 45.0
106134125100819 | [&RizE#E 125100 THREE 172.0 127.0 45.0
106134125100822 FE 125100 THEE 172.0 105.0 67.0
106134125100542 | 28k 125100 TrREE 172.0 111.0 61.0
106134125100557 itk 125100 THEE 172.0 132.0 40.0
106134125100950 Ex 125100 THEE 172.0 114.0 58.0
106134125101016 | 2Kk T A 125100 TrREE 172.0 119.0 53.0
106134125100617 | #uss 125100 TrREE 171.0 121.0 50.0
106134125100642 | =4 K 125100 THEE 171.0 125.0 46.0
106134125100644 | #AIPE 125100 TrREE 171.0 115.0 56.0
106134125100705 | HXZ~= 125100 THEE 171.0 118.0 53.0
106134125100724 | %ok 125100 THER 171.0 109.0 62.0
106134125100729 | 3zps¥% 125100 TrREE 171.0 105.0 66.0
106134125100018 TE 125100 TrREE 171.0 132.0 39.0
106134125100146 | ZEME 125100 TrREE 171.0 122.0 49.0
106134125100358 | F&AB#k 125100 THREE 171.0 124.0 47.0
106134125100506 BE 125100 THREE 170.0 124.0 46.0
106134125100457 | Jiéaiéa 125100 TrREE 170.0 123.0 47.0
106134125100159 | BEiEE 125100 THREE 170.0 116.0 54.0
106134125100045 = 125100 TrREE 170.0 118.0 52.0
106134125100065 FR= 125100 THREE 170.0 121.0 49.0
106134125100127 pUp 125100 THREE 170.0 130.0 40.0
106134125100758 | ={fiH 125100 TrREE 170.0 112.0 58.0
106134125100842 | Z==i% 125100 THREE 170.0 111.0 59.0
106134125100608 | EFEX 125100 THREE 170.0 122.0 48.0
106134125101062 | F4k8 125100 TrRER 170.0 122.0 48.0
106134125100894 | X|H¢E 125100 TRsE 170.0 119.0 51.0
106134125100907 | == 125100 TrRER 169.0 120.0 49.0
106134125100627 B 125100 TRsE 169.0 120.0 49.0
106134125100829 | #H=® 125100 TS 169.0 103.0 66.0
106134125100817 | #KFR 125100 TrRER 169.0 122.0 47.0
106134125100739 | FHREE 125100 TRsE 169.0 117.0 52.0
106134125100720 HiE 125100 TrRER 169.0 125.0 44.0
106134125100461 | f{msE 125100 TRsE 169.0 118.0 51.0
106134125100386 +I8 125100 THREE 169.0 111.0 58.0
106134125100340 | SIER 125100 TRsE 168.0 122.0 46.0
106134125100424 | =kERES 125100 TREE 168.0 120.0 48.0
106134125100031 XI5 125100 TREE 168.0 119.0 49.0
106134125100823 e 125100 TREE 168.0 118.0 50.0
106134125100870 | KR 125100 TREE 168.0 113.0 55.0
106134125100628 | #tzEfdE 125100 THEIE 168.0 114.0 54.0
106134125100683 | Z=HY 125100 TREE 168.0 108.0 60.0
106134125100599 EW 125100 TREE 168.0 115.0 53.0
106134125100675 iR 125100 TREE 167.0 128.0 39.0
106134125100708 | E'mHH 125100 TREE 167.0 124.0 43.0
106134125100764 | iBf/\E 125100 THEEE 167.0 116.0 51.0
106134125100195 EiE 125100 TREE 167.0 115.0 52.0
106134125100289 (EP] 125100 TREE 167.0 101.0 66.0
106134125100468 B 4 125100 TREE 167.0 117.0 50.0
106134125100518 | Hr/\f& 125100 TREE 167.0 111.0 56.0
106134125100484 I 125100 TREE 167.0 105.0 62.0
106134125100318 peAiis) 125100 TREE 167.0 105.0 62.0




106134125100953 | E={Epk 125100 THEE 167.0 104.0 63.0
106134125100898 =E 125100 THEE 166.0 123.0 43.0
106134125101072 | =BF 125100 TrREE 166.0 102.0 64.0
106134125100968 | ZkER 125100 TrREE 166.0 103.0 63.0
106134125100437 Rk 125100 TrREE 166.0 109.0 57.0
106134125100781 | ZE=EA&H 125100 TrREE 166.0 104.0 62.0
106134125100715 | FLiFt= 125100 TrREE 166.0 109.0 57.0
106134125100677 ELg5 125100 THEE 166.0 121.0 45.0
106134125100613 | ¥ ERS 125100 TrREE 166.0 97.0 69.0
106134125100544 | #3538 125100 THEE 165.0 101.0 64.0
106134125100535 Z=H 125100 TrREE 165.0 117.0 48.0
106134125100714 | FEE3R 125100 TrREE 165.0 115.0 50.0
106134125100763 | Lyt 125100 TrREE 165.0 122.0 43.0
106134125100503 | Z=&15 125100 TrREE 165.0 126.0 39.0
106134125100409 | #NEBZE 125100 TrREE 165.0 111.0 54.0
106134125100214 | /&= 125100 TrREE 165.0 110.0 55.0
106134125100028 | EZMH 125100 TrRER 165.0 113.0 52.0
106134125100079 B 125100 THER 165.0 123.0 42.0
106134125101012 B ik 125100 TrREE 165.0 115.0 50.0
106134125101047 | =& 125100 TrREE 165.0 111.0 54.0
106134125100284 | PRZEfE 125100 THREE 164.0 116.0 48.0
106134125100271 A= 125100 TrREE 164.0 119.0 45.0
106134125100381 | F2%&5M 125100 THEIE 164.0 119.0 45.0
106134125100316 | #pak#t 125100 TrREE 164.0 117.0 47.0
106134125100787 | IPEE 125100 TrREE 164.0 122.0 42.0
106134125100756 ok 3 125100 TrRER 164.0 110.0 54.0
106134125100573 | BExiE 125100 THEE 164.0 112.0 52.0
106134125100632 | &£ 125100 TrRER 164.0 121.0 43.0
106134125100646 I 125100 THEE 164.0 112.0 52.0
106134125100698 | BHE 125100 THEE 163.0 102.0 61.0
106134125100580 | ZkZe#k 125100 TrRER 163.0 111.0 52.0
106134125100845 | #t3git 125100 THEE 163.0 107.0 56.0
106134125100456 | #4%h 125100 TrRER 163.0 110.0 53.0
106134125100232 I 125100 THEE 163.0 110.0 53.0
106134125100106 =l 125100 THREE 163.0 120.0 43.0
106134125100892 | EKE: 125100 THEE 163.0 121.0 42.0
106134125100893 Uak: 125100 THEE 163.0 108.0 55.0
106134125100922 a8 125100 TREE 163.0 116.0 47.0
106134125100999 %wE 125100 TREE 162.0 113.0 49.0
106134125100012 -t 125100 TREE 162.0 110.0 52.0
106134125100267 | ==k 125100 THEIE 162.0 115.0 47.0
106134125100298 | Z=3TE 125100 TREE 162.0 116.0 46.0
106134125100182 | B/\R 125100 TREE 162.0 108.0 54.0
106134125100417 e 125100 TREE 162.0 113.0 49.0
106134125100351 | M 125100 TREE 162.0 111.0 51.0
106134125100363 | FEABH 125100 TREE 162.0 112.0 50.0
106134125100723 S 125100 TREE 162.0 109.0 53.0
106134125100765 | 4pXE 125100 THEIE 162.0 98.0 64.0
106134125100561 | Z=ngiH 125100 TREE 162.0 116.0 46.0




